Rules for Counting Significant Figures

1.  All non-zero digits are significant.


Example:  123.7 has 4 significant figures

2.  All zeros between non-zero digits are significant.


Example:  1207 has 4 sig. figs., 120.007 has 6 sig. figs.

3.  All zeros at the left of the number are NOT significant.


Example:  0.00032 has 2 sig. figs, 0.03 has 1 sig. fig.

4.  When zeros are at the right of the number:


a)  If there is no decimal, the zeros are NOT significant.


Example:  300 has 1 sig. fig., 25400 has 3 sig. figs.


b)  If there is a decimal, the zeros ARE significant.


Example:  60.0 has 3 sig. figs., 0.00045300 has 5 sig. figs.  (the 4 zeros at the left of the number do not count, but the 2 zeros at the right of the number do count).

Calculating with Significant Figures

Multiply/Divide

1. Count the number of significant figures in each of your measurements used in the calculation. 

2. The answer will have as many as the least precise measurement.

Ex. 6.2m x 10.5m = 65.1 m2 = 65 m2
Add/Subtract

1. After adding or subtracting, keep all digits to the left of the decimal.

2. To the right of the decimal, only keep the places that the measurements have in common.

Ex.  211.6   cm

      +   4.75 cm

        216.35 cm  = 216.4 cm
Rules for Counting Significant Figures

1.  All non-zero digits are significant.


Example:  123.7 has 4 significant figures

2.  All zeros between non-zero digits are significant.


Example:  1207 has 4 sig. figs., 120.007 has 6 sig. figs.

3.  All zeros at the left of the number are NOT significant.


Example:  0.00032 has 2 sig. figs, 0.03 has 1 sig. fig.

4.  When zeros are at the right of the number:


a)  If there is no decimal, the zeros are NOT significant.


Example:  300 has 1 sig. fig., 25400 has 3 sig. figs.


b)  If there is a decimal, the zeros ARE significant.


Example:  60.0 has 3 sig. figs., 0.00045300 has 5 sig. figs.  (the 4 zeros at the left of the number do not count, but the 2 zeros at the right of the number do count).

